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I n mwn: physical indicators to anticipate o7 (mnon which are not time-bound but related to physical sensation in advance)
a  Rule: nnyw 07
i Challenge: we already learned nnyw 7 (X:R)
ii ~ Answer: that is for “calendar-non”, this is for “sensation-non”
b  Examples: yawning, sneezing (or letting wind), heavy feeling in stomach and bowels, bleeding, shivers or anything
like that
i o means she has 9mv o7 (e.g. off-color) and then begins bleeding with proper nm o7
ii 72 x¥r3 55 1> extends (per X% 71 na7) to headaches, heaviness of limbs, shivering or hiccuping (? — orig. "now”)
1 Sxipw: rule is that for calendar-nom, require 2x, for sensation-non — once, for what w'non didn’t mention — 3 times
(a) 9or "z onon 1N ROW NnY refers to headaches, heaviness of limbs etc. as per above
(b) Challenge (»25): that is in the nwn, per »"17’s explanation
(i) Rather (»2n): refers to a case where she sees after eating onions, garlic or chewing on peppers
(c) Aside: qov 1 forgot that he had taught YRnw’s rule, »ar reminded him that it was in the context of » nawn (below)
(i) Note: 59R1nw ruled that 3 times was per »"av3, (who requires 3x for days, 2x for non); n’nan don’t require
¢ If: she had these three times, each followed by nT1 07 — this is a non
II v mwn: status of MInv relative to mnon; expansion of mnon
a  If: sheis accustomed to see 07 at the beginning of her non, any m nv she touches during the non are mrnv
b But if: she is accustomed to seeing n7 at the end of her non, any m1nv she touches during the non are mmnv
¢ Hours: times of day can be considered mnon =»if she is accustomed to seeing o7 at sunrise...
i o 7 she is only nY»ay nMoR at sunrise
ii 7717 "1 the whole day is “hers” (i.e. the night before, she was npa5 nmoR)
1 Challenge: Rn»2 reports that N "1 gives her the whole night
(a) Answer: if she sees before sunrise, the night is 17oR, day is “hers”, if she sees after sunrise, night is “hers”
(b) Parallel answer: to contradiction between nmn’ 7 permitting her before or after non
d  2:v 71 AnoDIT if she sees every 20 days at midday, when day #20 comes and she didn’t yet see
i 177 % she is nYYa% nMoR from dawn until midday; if she didn’t see at midday, must abstain the rest of the day
ii ~ ’p» 7 she may have relations in the morning, must abstain at midday; if she didn’t see, may resume after 6t hour
e  Final ruling (x27): follows nmi "1
i Challenge: ®27 applied n'nv "1’s interpretation of v. 1 (7w»1a nxn) to one NNy
1 Assumption: means an extra nny, besides the time during which she sees
2 Defense: he means the n1y of seeing itself, not an extra one
3 Question: why did ®a1 have to issue this ruling twice (#1 —ruling like m7n> '3; #2 his comment on nw 12 nnxn)
(a) Answer: Our mwn might only refer to M1V (but NY»a% namn); onarm might imply the “extra” Ny — Y"np
II > mwn: establishment and nullification of a non
a  If: she was accustomed to seeing every 15 (22) days and then saw at day #20 (27) — days 15 and 20 are both 0o (next cycle)
b If: this happened three times, day #15 is now “cancelled” and day #20 (27) is her non
¢ Rule: a woman doesn’t establish non until she sees 3 times nor does she nullify a non until she has “not seen” 3 times
i 977 0n establishment: she may not establish it until 3 times, but is nwwn after first time
1 Challenge: this is our mwn
2 Answer: we may have thought that that only applies during mm »m, 8™ - even if not during mT ", nwwin
it 9”70n uprooting: only if she established it 3 times; if she established it twice, one “non-event” is enough to uproot
(a) Challenge: this is our nwn
(b) Answer: we might have thought that 1 uproots 1, 2%, 393 - 5"np
(c) Support (x11773): if she would see every 20 and switched to 30, both are moy; if D20 comes and she doesn’t
see, may have n&»1 until D30, and is nwwin on D30; if D30 came w/o seeing and then she saw on D20, D30 is
now Imn and D20 7oy, as the pattern returned

© Yitzchak Etshalom 2012 53 www.dafyomivicc.org




D0 MYRID'T VYR ORI 771 noon MY AT TINHD My BT

IV Dispute YR1nw/17 about estabilshment of a non
a  If: she saw on 15 of month 1, 16" of month 2 and 17 of month 3
i 37 she has established 115719 non (»expect 07 on 18t of month 4)
ii SN requires 3 “gaps” (of a month and a day) to establish
1 Suggestion: perhaps YRmw) 17 are parroting 3"2v1/°27 whether nptn is 2x or 3x (in re: N15vp — cf. N:10 NawY ®navIn)
2 Rejection: they both accept 3"2v1 (3x); they disagree if first 1?7 should count (YX1nw —need 3 “gaps” of month+day)
(a) Challenge (to 27): %0 071 RNavIN - if she would see on 15t then changed to 16" - both are p1oR (next month)
(i) If: she then switched to 17t, 15% still 7oK, 16% “released”; if she then saw on 18 — only 18% 11ox
(if) Answer (27): if she was accustomed, that is different — requires 3 057 to cancel set date (of 15t)
1. Justification (for question): we mave thought that nmn? is different, once it is “passed by” twice, null — Y"np
(b) Challenge (to 5x1pv): if she saw on 21%, then 22", then 23 — nom (if she skipped, instead to 24" — no nomn)
(i) w3 in this case, she was already seeing on the 20 (evidenced by their selecting #21 as starting point)
V  » mwn: introduction to %101 07— oY n1 are like grapes, some are red, some darker, some more plentiful, others less
a A7 "1 every vine has some wine, if it has none, it is called »opm7 (play on “»vp 717”7, as 0nT increase chance of childbirth)
i A7n’1just asleavenis good for the dough, blood is good for the woman
ii ~ »”:if a woman has lots of 07, she will have lots of children
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